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(1) 9x9&

#include<stdio.h>
#include <windows.h> //Win32 API Sleep(msec)Z{HE S5 f=HICWHE

int main(void){

int i, a;

for (i =1; i<=9; 1i=1+ 1){
for (a = 1; a <= 9; a++){
printf(" %dx%d=%d",i,a,i*a );

Sleep(5); A rL— 2
}
printf("¥n"); (#£) Sleep : ST RLF
}
return 0;

Ix1=1 1x2=2 1x3=3 1x4=4 1xb6=H 1x6=6 1x7=7 1x8=8 1x9=9

2x1=2 2x2=4 2x3=6 2x4=8 2xH=10 2x6=12 2x7=14 2x8=16 2x9=18
3x1=3 3x2=6 3x3=9 3x4=12 3xH=15 3x6=18 3x7=21 3x8=24 3x9=27
4x1=4 4x2=8 4x3=12 4x4=16 4x5=20 4x6=24 4x7=28 4x8=32 4x9=36
hx1=h 5x2=10 5x3=15 Hx4=20 5x5=25 Hx6=30 5x7=3H 5x8=40 Hx9=45
6x1=6 6x2=12 6x3=18 6x4=24 6x5=30 6x6=36 6x7=42 6x8=48 6x9=5H4
Ix1=7 Tx2=14 7x3=21 7x4=28 7x5=3b 7x6=42 7x7=49 7x8=56 7x9=63
8x1=8 8x2=16 8x3=24 8x4=32 8x5=40 8x6=48 8x7=H6 8x8=64 8x9=72
9%1=9 9x2=18 9x3=27 9x4=36 9xH=45 9x6=H4 9x7=63 9x8=72 9x9=81
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#tinclude<stdio.h>

#tinclude <windows.h>

int main(void){

int i, a;

for (i =1; i<=9; i=1+ 1){
for (a = 1; a <= 9; a++){
printf("%2dx%d=%2d",i,a,i*a );
Sleep(5);
}
printf("¥n");
}

2 ARREIEET D
return 0;

//Win32 API Sleep(msec)Z{# 5 f=IZHE

1 1x2=2 1x3=3 1xd4=4 1Ixb=5H 1x6=6 Ix/= 7

2x1= 2 2x2= 4 2x3=6 2x4= 8 2x5=10 2x6=12 2x/=14
3x1=3 3x2=6 3x3= 9 3x4=12 3xb=15 3x6=18 3x7=2]
dx1= 4 4x2= 8 4x3=12 4x4=16 4x5=20 4x6=24 4x7=28
bx1=5 bxZ=10 5x3=15 5Hxd=20 5xb=25 5x6=30 5x7=35
6x1= 6 6x2=12 6x3=18 b6x4=24 6x5=30 b6x6=36 6x7=42
Ix1= 7 7x2=14 7x3=21 7x4=28 7x5=35 7xB6=42 7x7=49
8x1= 8 8xZ=16 8x3=24 8x4=32 8xb=40 8Ex6=48 8x7=56
Ix1= 9 9x2=18 9x3=27 9x4=36 9xbH=45 9xB6-54 9x7=63
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1x8= 8
2x8=16
3x8=24
4x8=32
Hx8=40
6x8=48
7x8=h6
8x8=64
Ix8=172

1x9= 9
2x3=18
3x9=27
4x9=36
Hx3=45
6x3=54
7x9=63
8x9=172
9x9=81



